<o @> (rad)
o
=
a1

x107°

< dcotl>)
o
=
a1

0.95L :
107 1

oF ;
F A I
2 3
TPlpoT (PCA t%obeamlinélf)

100

—~

o-02 vy b
g I
m 1 -
W
0.950 : > .
10° 1 10 0, .1
TP, (PCA t% beamling
—=— DQM_V0001_R000000001__Global__CMSSW_original
—e— DQM_V0001_R000000001__Global__CMSSW_cleaner
=~ 100
g
= 80 ----------------------------------------
N
2 B0 e
o]
o
V2 F SR

Y
-
3
.

1071 1

<opyp, > ()

I2 3
- (PCA t%)obeamlin%)o

RatioI

o . 4
C rul 1 L1 1 yl L
1 +1 ]
1] |44 C 3
I $
4
+

0.954

1071 1

2 3
TPlp?T (PCA tjbobeamliné'f)




	Contents
	Page 1


